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INTERNATIONAL INDIAN SCHOOL, RIYADH

FIRST TERM WORK SHEET

Class : VI

Sub: Mathematics 

Chapter 3 – Whole Numbers

	

	
	FILL IN THE BLANKS:

	1.
	The whole number which is not a natural number is _________________ .

	
	

	2.
	The natural number whose predecessor does not exist is ______________ .

	
	

	3.
	There are __________ whole numbers up to 75. 

	
	

	4.
	Predecessor of 2, 90,  099   is ____________ .

	
	

	5.
	There are ____________  natural numbers up to 80. 

	
	

	6.
	The additive identify for whole numbers is __________ .

	
	

	7.
	The statement  ( 3 + 5 ) + 6 =  3 + ( 5 + 6 ) shows that addition of whole numbers is _____ .

	
	

	8.
	___________ is  the multiplicative identity of whole numbers.

	
	

	9
	6  x  ( 7 + 3 )    =   ( 6 x 7 )  +  ( 6 x 3 ).   This statement shows that multiplication of whole numbers is _____________ over addition.

	
	

	10.
	( 3 x 5 )  x  9   =   3 x    ( 5 x 9 ).  This statement shows that multiplication of whole number is ____________ .

	
	

	11.
	____________ is the only whole number which when divided by it self gives a quotient equal to itself.

	
	

	
	DO THE FOLLOWING:

	1.
	How many times does the digit  5  occur in tens place in the natural numbers from 100 to 1000?

	
	

	2.
	How many times does the digit 9 occur in the units place in all the natural numbers up to 100 ?

	
	

	3.
	Find the sum by suitable rearrangement.

	
	a) 534 + 100 + 466

b) 365 + 700 + 635

	
	

	4.
	Add each of the following and check by reversing the order to the addends.

	
	(a)  3025  +  1825       (b)  2094 + 2942


-(2)-

	5.
	Find the product using properties of whole numbers.

(a)  155 x 601     (b)  1800 x 499      (c)  71 x 380.

	
	

	6.
	Find the value of the following expressions using properties of whole numbers.

	
	(a)   4,  380  x  85  -   4, 380  x  75

(b)  270  x  8   +   270  x  9  +  270

(c)  45  x  20  x  5

	
	

	7.
	Find the quotient and remainder in each of the following divisions.  Check the answer by division algorithm.

	
	(a)  4, 567   (   234      (b)  3, 645    (   15         (c)  7, 654     (    19 

	
	

	8.
	The product of two numbers is  3, 75, 200.  If one of the numbers is  160 .    Find the other?

	
	

	9.
	On dividing   4, 56, 789  by  a certain number the quotient is  1, 952  and  a remainder  21  is left.  Find the number.

	
	

	10.
	Divide the largest   4 – digit number by the largest 2 digit number and write down the quotient and the remainder.
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